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K - Usually an abbreviation of kilo (1000). In computers, Now for the programs:
1t is 2 to the 10th power or 1024 bits or bytes, : P DU
“The first twd-are from PAUL SCHIPPNICK and are two more

versions of a screen dusp, See Paul for further explan-

Modem - Translates the computer's binary language into tones
that the telephone can.transmit. One reconverts incoming

g
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tones into binar{ lanquage that the receiving computer can
understand, Short for modulator-demodulator.

Interface - Harware or sdftnaré’used'tn connect two devices.

RS-237 - Standard interface.

That’s it for this month. To learn more, cose to the
aeetings. (Thursdays especially)

USING THE TI WRITER WITH A GEMINI 10X

Fullonina are some of the codes you use to get what you
want from the 10X, These are not by any means all of thea;
only the ones 1 use the aost.

First, to access the codes, you use ‘Contrel U'. Your
cursor will change froa a solid black square or open square,
depending if {uu re u51n? Formatter or gditor, to a black
line, A capital letter (B) in a command means that is what
you should see on the screen, For erample, to print in
pica, a stze of print, the coamand is EEC b 1, What you do
on.tﬁe computer 1s strike Control U, Function R, Centrol U,
Shift A, Control U, then Shift A again. This is what you get
on the screen:

‘The most important thing to do: Get page 146 of your TI
Writer manual and copy it. Put it where you can see it when
usnng TI Writar. Mine is so dog-eared, ! need to make
another copy and cover it'

Standard print: ESC 5 - CTRL U, FCTN R, SHIFT E

Italic Print: ESC 4 - CTRL U, FETN R, SHIFT D

Pica; DC2 - CTRL U SHIFT R (another way)

Condensed: 51 - CTRL U, SHIFT O

Enlarged: 50 - CTRL U, SHIFT N

Double strike: ESC G - CTRL U, FCIN R, CTRL U, SHIFT &

Underline: ESC - | - CTRL U, FETN R, CPRL U, SHIFT SLAGH,
. CIRL U, SHIFT A

Disregard paper out: ESC B - CTRL U, FCTN R, CTRL U, 8

The ASCII Codes are the key to transliterating the TI
commands to the 10X or anl other printer’s commands, It is
rather burin? work to look up the commands which give you
what you want., However, it is worth it - you get maximum
use of your printer’s capabilities,

THE PICNIC...

0f course it rained the day of the picnic. A few hardy
souls braved the scattered sprinkles and talked computers in
the great outdoors. We had plenty of food, and held a
drawxn? for 2 solar calculators {donated hy member JACK
SEIDELY, and Donna Roguemore's version of the 10
commandments for the computer, framed. Since all of the
officers showed, and two members, naturally, the officers
won the prizes' Cheryl won the commandaents, Floyd won a
calculator, as did Tom's children. Maybe next year we
should held the picnic in April!

THE LIBRARY...

First, those of you who want the Debugger,” the Forth
Source Code, and/aor the enhanceaents for ulliﬁlan & TI
Writer, mus{ bring your own disks (one for each prograe
except the source code which requires two disks) to the
Thursday meetings only. they are only available at the
neeting, there’is a $5 charge that covers our costs for
copying the documentation. Orders for other programs in the
Library will be as usual - order one month and receive the
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>32728 REM 8407101854 PRO-SC

REEN DUMP\3 MODULE VERSION--
—————— BY P.E.SCHIPPNICK
>32729 \$="123456789ABCDEF"
»32730 \\\=159
32731 CALL PEEK(24577.\)
»32732 IF (\=0)+(\=255)THEN 3
''2734 0
>32733 \\\=1473

. »32734 OPEN #1:"P10.CR"

»3273% PRINT #1:CHRB(27T)H&"T"&
[P ' . :
16

- 232736 FOR 1=12 TO 1 STEP -1

232737 PRINT #1:CHRE(27)&"S"&
"0192"; ‘ '

»32738 FOR (=1 TO 24

232739 CALL. GCHARC[, 1,\)

C 332740 IF (\N(32) ¢« (N AN\ THEN

32757

32741 CALL CHARPAT (N A\AS$)

232742 JASPOS\$,SEGE(\\H, 1.1

S LD *x16+POSO\FR, SEGRO\\E, 2, 1)
1) '

;32743 IB=POS\$,SEGRCNE, 3,1
). 1)%x16+POSA\SE, SEGEANASE 4, 1)
, 1)

>32744 JC=POS(\$,SEGR(\\F, 5.1
YL 10*16 +POSIASE, SEGE(\\F.6,1)
, 1D ‘

2132745 ID=POS(\F,SEGR(\\S$, 7,1
), 1)x16+POS(\$,SEGE(\\$,8,1)
, 1)

v 32746 1E-POS(\R,SEGE(\\$.9,1
), 1)*16+POS\$,SEGR(\\$, 10,1
>, 1>

>32747 JF-POS(\$,SEGE\\F. 11,
1), 1) x16+POSC\$H, SEGBE(\\$, 12,
1),1)

.»32748 1LG=POS(\$,SEGH(\\¥§, 13,

1),1)*x16+POS(\$,SEGE(\\$F, 14,
1), 1) ' '
»32749 JH=POS(\$,SEGHF\\E,15,
S 1),1)x16+POS(\$,SEGH(\\$, 16,
1), 1D
»32750 PRINT #1:CHR$(JA)IKCHRS
( IBYXCHREF (IC)KCHRS (I D) KCHRE
JE)&CHRS ( JF)&CHRS ( JGH&CHRE ()
Hy):;. =~
,32751 NEXT [

. ,42752 PRINT #1:CHR$(13)&CHRS

«10)
>32753 NEXT )
327054 PRINT #1:CHREZTHE"AT
> 32755 CLOSI: #1
232756 END

~
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»32757 JA=0
>32758 1B=0

. 232759 JC=0
>32760 ID=0
»32761 1E=0
>32762 JF=0
»32763 1G=0
»>32764 JH=0
32765 GOTO 32750

232693 REM 8406132349xSCREEN
DUMP--BY P.E.SCHIPPNICK
>32694 DIM \$(23)

32695 OPEN #1:"PIO.CR"
>32696 FOR 1=0 TO 23

132697 CALL PEEKV()x32,\1,\2,
A3\ ,\5,\6,\7,\8,\9,\0,\A,\
B.,NC,\D,\E,\F,\G,\H,\I,\J,\K
L ANLLAMLANLNO, VPP, \Q, \R,\S,\T.
LAV

232698 \$())-CHR$H(\1)&CHRP(\2
YRCHRB(\3 )& CHRB( \4 )& CHR$ (\5)
& CHRP(\6)&CHR$(\7)KCHRS$(\8)1&
CHRP (\9)&CHRS$(\O)& CHRS$ (\A)&C
HRF(\B) & CHR$(\C)&CHRS$(\D)>&CH
RE(\FE)RKCHRF(\FI& CHRS(\G)&CHR
FC\NH)IKCHR$(\ 1 )&CHR$(\J )& CHRS
(\K)&CHR$ (\L)&CHR$ ( \M )& CHR$ (
\N) ‘
»32699 \$())=\$( )X CHRP(\0)&C
HRB(\P)&CHRS(\Q)&CHR$ (\R)»&CH
RE(\S)&KCHRS$(\T)»&CHR$ ( \U)&CHR
$\V)

32700 NEXT )

>32701 PRINT #1:CHR$(27);"A";
CHR$(8)

»32702 FOR (=342 TO 1 STEP -1

" v32703 PRINT #1:CHR$(27);"K";
CHR$(192) ; CHR$(0) ;

>32704 FOR )=1 TO 24

»>32705 \=ASC(SEGH\$(})-1»,(,1
)

232706 \=\x(\>125)-127x(\ 126
)

»32707 CALL PEEKV(1016+(\-127
)x8,1A,1B,)C,)D,)E, )F,])G, JH)

>32708 GOSUB 32716

>32709 PRINT #1:CHR$(JA)&CHRS$
()B)&CHRS$( IC)&CHRS$(ID)&CHRS$(
JE)&CHRS$ ( JF)&CHR$( ) G)&CHRS$ ()
H);

>32710 NEXT )

>32711 PRINT #1:CHR$(13) ; CHRS$
(10)

»32712 NEXT [

>32713 PRINT #1:CHR$(27);"@"
>32714 CLOSE #1

>32715 END
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>32716
»32717
>32718
>32719
>32720
»32721
>32722

»32723

>32724
>32725
>32726
32727
>32728
>32729
>32730
»32731
>32732
>32733
>32734
>32735

>32736°

»32737
/32738
»32739
»32740

32741

532742
/32743
»32744
>32745

>32746
>32747
>32748
>32749
>32750
>32751
>32752
»32753
»32754
232755

>32756°

>32757
>32758
»32759

»32760
32761,

Y32762
>32763
>32764
» 32765

\\=JA
GOSUB 32741
JA=\@
\\=)B
GOSUB 32741
1B=\@
A\ =)C
‘GOSUB 32741
1C=\@
\\=1D
GOSUB 32741
)D=\@
\\=1E
GOSUB 32741

~JEF\@

\\=JF
GOSUB:-32741
]F" \@
A\=1G
"GOSUR 32741
1G=N@

\\- IH :
GOSUB 32741
JH=\@
‘RETURN

\@=0

IF \\-128 THEN 32745

\N@E=\@+1
AN=\\-128

IF \\ <64 THEN 32748

\N@=\@+2
A\ =\\"-64

IF \\ <32 THEN 32751

\@=\@+4
\\=\\-32

IF \\<16 THEN 32754

A\N@=\@+8
AV=\\-16

“ITF \\¢8 THEN
\@=\@+16
XN=\\-8" -~

IF \\<4 THEN
\N@=\@+32

A\ =N -4

IF \\<2 THEN
.\@—’ \@+.6.1*.
A=\ -2

JTF \\<1 THEN
\@=\@e+128

"RETURN

32760

32765

CONTINVED ON PAGE &




B 9 RELATIONAL OFERATORS BE W

an article on T1 99/4(A) programaing
By: Curtis Garcia
10202 Forus Park Drive 310
Houston, Texas 77034
{713)774-4801

The Relational Operator (R0O) is a powerful programming tobl which is not
well explained by TI in the 99/4(A) manual. I will attempt to explain what a RO
is and it’s possible applications in this article. b

A RO is a relational expresssion such as X=5 or Y>A. I'm sure you’ve seen
this type of expression in IF-THEN-ELSE statements. The purpose of this article
is to show new applications for this type of statement, and ways to conserve
program space by using RO’s.,

The first thing that must be understood is how the computer interprets it
in a program. The computer effectively replaces a RO expression with either a ¢
if the expression is FALSE, or a -1 if the expression is TRUE. It is this fact
which gives the RO the potential to do so much for us in avpfogram,_as I will
demonstrate in this article.

e

The simplest form of the RO is the simple IF statement:

200 IF X=5 THEN 390 ' a e

Then there is the OR statement (for TI Basic):‘j RNRMI@ FROM:

200 I# (X<1)+(X>9)THEN 390 o ‘:“t“ Users Group
ewsletter

And, there is the AND statement (for TI Basic):
200 IF (X=S)#(Y<5S) THEN 390

The above expressions are all simple RO’s. In each case, the computer will
evaluate the RO and, if the result is other than zero, perform the command that
follows the RO. If the evaluation results in a value of zero, control passes tc
the next line in the program. As you can see in the OR statement example, there
are two relationships expressed, with a + between them. This causes the results
of the evaluations to be added together. If the total is not zero (one or more
of the expressions are TRUE), the command that follows is executed.

In the AND statement example, the results of the evaluations are multipli-
ed. Thus, if either expression were FALSE, the total expression would also be
FALSE (0)#(-1)=0 and control would pass to the next line. If both' of these were
TRUE, the result of the evaluation is not zero (—1)%(-1)=1 and the command that
follows the RO would execute. S v ‘

We’ve looked at the simplest application of the RO now. In Extended Basic
you should use the OR and AND commands that are provided, since they are more
cspace efficient than the methods shown above. In the next section I will show
applications of R0"s for Basic or Extended Basic with large potential savings
of program space outside of the IF-THEN-ELSE statement.
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The fact that the computer evaluates and equates RO’ s as a O 1f¥ FALSE, and
a -1 if TRUE, has many other applications when programming either in TI Basic
or Extended Basic. Consider the following equivalent statements:

190 X=X+1
200 IF X<S5 THEN 2220
210 X=0

The above can be replaced with the statement below using a Ra:
190 X=X+1+5%(X=4)
The above RO looks at the value of X BEFORE BEING MODIFIED BY THE CURRENT

LINE. So, if X is 4, the RO is TRUE(-1), and the S*(X=4) evaluates to a -5,
which is added to the first part of the expression; X=X+1. Thus, X=4+1+(-5)=0.

This is the power of the RO, that you can set up relationships almost any-
vwhere in your program, that can save memory space. The RO cannot be used in DIM
statements or OPTION BASE statements, but may be used in all other programming
applications where a numeric value is expected. These inclue FILE NUMBERS, CALL
COLOR, HCHAR, VCHAR, DISPLAY, RECORD NUMBERS (in a file), FOR-NEXT LOOPS, ect.

A very graphic example of the space savings possible with R0’s is shown iIn
the following equivalent examples. In each case, a CALL KEY statement is used
to detect any of the four arrow keys, which are being used to set the X and Y
values. The X and Y values represent the row and column locations of a graphic
character, with its travel limited to rows | thru 24 and columns 3 thru 30.

200 CALL KEY(O,KEY,STATUS) 310 IF° X>0 THEN S00
210 IF STATUS=0 THEN 200 320 X=1

220 IF KEY=68 THEN 260 330 60T0 500

230 IF KEY=69 THEN 300 340 Y=Y-1

240 IF KEY=83 THEN 340 350 IF  Y>2 THEN S00
250 IF KEY=88 THEN 380 ELSE 200 360 Y=3

260 Y=Y+1 370 GOTO 500

270 IF Y<31 THEN 500 380 X=X+1

280 Y=30 320 IF %<23 THEN S00
290 GOTO S00 400 X=24

J00 X=X-1 410 6GOTO 500

The above can be replaced with the following equivalent statements:

200 CALL KEY (O.KEY,STATUS)

210 IF (KEY<>68) % (KEY<>69)# (KEY<>B3)#(KEY<>88) THEN 2200
220 Y¥Y=Y+(KEY=68) % (Y<30) ~(KEY=8Z) #(Y>3)

230 X=X+(KEY=88) % (X<24) - (KEY=6%)# (X>1)

240 6070 S00

The above example uses the relational AND to check both the KEY and the
value of the variable (either X or Y) BEFORE MODIFICATION; this prevents the
variable from being modified to a value ocutside the desired range. You will
notice that ifl either of a pair of R0’s with a % between them is FALSE, the
result is zero, so no change is made to the variable. Remember, when using the
relational AND, if TRUE, the value is +1. If using the relational IF, the value

is -1 if TRUE, so watch the signs vyou place in front of the RO’s to get the
desired results.
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